
Maulana Azad National Urdu University
MBA II Semester Examination  May - 2019

Paper: MMBA204CCT  : Financial Management
6,p:ZOðZK̈ãz�b

Total Marks : 70 Time : 3 hours

@Zc*]:
ÎZßV» Óx�VÐ CÙ�Z[Æn/VÅ®Z�Z�ágèSìX zZzwÔz�zxÔzÎxX t6,p!ÎZÑ]&�V6,�ì:

�Z[�bÑiòìX
ÑiòìXCÙ ÑiòÎZÑ]���czèÎZÑ]&{à(%æFN�**&¿�Z[zZáÎZÑ]�XCÙÎZw»�Z[ 10~ zZzw .1

 (10 x 1 = 10 Marks) ��ìX  1 ÎZwÆa
/V6, (200) ~WJÎZÑ]�XZk~Ð¤(̈DÃÃð0*õÎZßVÆ�Z[�¶�XCÙÎZw»�Z[½ã�zÎ z�zx .2

 (5 x 6 = 30 Marks) �Z]��X 6 CÙÎZwÆa �ìX
(500) ~0*õÎZÑ]�XZk~Ð¤(̈DÃÃð&ÎZßVÆ�Z[�¶�XCÙÎZw»�Z[½ã0*õÎ zÎx .3

(3 x 10 = 30 Marks) �Z]��X 10 CÙÎZwÆa /V6,�ìX

zZzw
1 : ÎZw

Ã''''ë�X (Total of Current Assets) gzZVZU*NV»ù· (i)

Ã''''ë�X (Concept) `»gzBÀÆgz9ÐËì�¦g M (ii)

ìP (Objective)Ñ (Modern) »].h+ (Financial Management) '''''â1CZOð (iii)

Ã'''''ë�X Rf + Risk Premium (iv)

''''�**ecX (Standard) »£g Debt-Equity (v)

Ð&zßwHY@*ì'''ë�X Debtors T~ (Time Period) {æ] z (vi)

Ã''''ë�X EPS1 = EPS2=0 Zzg EBIT1 = EB1T2 âD»g~Æ�~ (vii)

6,¥xHY@*ìX Profit ÆZW,Ã Fixed Cost Æfg= Leverage '''' (viii)

»¦g'''''Zzg''''6,«ìX EOQ (ix)

Å'''''Zq-VwìX (Temporary Working Capital) ¬gè»guât (x)

z�zx
»ù·ìXz�s#ÙX (Decisions) ZhV (Financial Management) â1CZOð (2)

ÃÒyÙX (Objectives) ÅgzÝ~ËÌ»gz!*g~Z�Zg}Æ£� (Financial Management) â1CZOð (3)

ÃC�X Techniques ùHY@*ì?Ãð�z (Inventory Management) fí{»ZOð (4)
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Ð»gz!*gÃzÝ�beSìXZkÆ0*k�z��wñ��ìX Rs. 60,00,000/- Zq-�zZ�iv (5)

1. All Equity  (6000 shares @ Rs. 1000 each)

2. D/E = 2:1  (interest @ 10%)

Expected EBIT = Rs. 20,00,000 and Tax rate = 40%

Zk§bìX Expected CFAT Üs�**eSìXZk6,Z7½ïEHÆ Rs. 10,00,000/-~ Project Zq-vZL6 (6)

Year CFAT (Rs.)

1

2

3

4

5

5,00,000

2,00,000

1,00,000

2,00,000

3,00,000

�**ecc*7X Invest~Project Ã¥xÙZzgC�ZkvÃ Profitablity Index (PI)

ÃC�X (Types) ÐH%Z�ì?ZkÆÃðegZlx (Cost of Capital) uâtÅÑ�' (7)

Ã¥xÙX Price of the Share Zq-vÅâ1C¥â]Zk§b�X (8)

Earnings per Share = Rs. 100

Dividend pay out = 50% and 100%

Cost of Capital = 10%

Rate of Return = 15%

ÃZEwÙX Gordon's Valuation Model

Ã¥xÙX WACC øDfs¥â]Åæ�Ð (9)

uâtÅzä
(Capital Structure)

!*iZg~�g
(Market Value)

uâtÅÑ�'
(Cost of Capital)

Debt 15,00,000 9%

Equity 10,00,000 15%

Preference 2,00,000 8%

Tax Rate = 40%

zÎx

�D�?,ÐC�X (Functions) ÆHZdw (Finance Manger) ËÌ»gz!*g~Z�Zg}~Zq-â1C= (10)
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k = 10%



(Financial ËÌ»gz!*g~Z�Zg}~â1CZÂð» (Working Capital Management) »guât»ZOð (11)

¦gHY@*ìXz�s#ÙX 70%» Management)

Ã¥xÙZzgË6,û{ÙX Internal Rate of Return (IRR) øDfs¥â]Åæ�Ð (12)

Year CFAT (Rs.)

1

2

3

4

5

3,00,000

4,00,000

5,00,000

6,00,000

2,00,000

ÅlZgZkR6, EPS Zzg EBIT Ã¥xÙXZzgC�� Financial Indifference Point øDfs¥â]Åæ�Ð (13)

Hì?
Capital requirement = Rs. 60,00,000

Option I = 100% Equity (Rs. 10 per share)

Option II = Debt - Equity = 2 : 1 (rate of interest = 18%)

Tax Rate = 40%

HìX (Working Capital Requirement) øDfsñZ�Åæ�ÐC��Zkv»»guâtÅ¢zg] (14)

52,000 units = (Output) aZzZg

Item Per unit cost (Rs.)

Raw Material

Direct Labour

Direct Overheads

Cost of Production

Profit

Selling Price

60

40

40

140

30

170

(1) {xâw
(2) �gxãâw
(3) »gâw
(4) æ]zßà
(5) æ]Z�Z5
(6) !*¹Z%̀]
(7) ×~

(Raw Material) in Stork = 4 weeks

(Work in Progress) = 2 weeks (50% completion stage)

(Finished goods) = 4 weeks

(Debt Collection Period) = 8 weeks

(Credit Payment Period) = 4 weeks

Lag in wages = 2 weeks

Cash in hand = Rs. 1,00,000

///
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Initial Investment = Rs. 10,00,000


